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Codeforces Global Round 8

A. C+=

O00000'a+=b'0'b+=2'0000000000%as0%bs0 000 %$nS

oo oooooon

#include<iostream>
#include<cstdio>
#include<cstring>
#include<cstring>
#define LL long long
using namespace std;
int main

int q,a,b,n;
scanf("sd",&q) ;
q__
scanf ("%d%d%d",&a,&b,&n) ;
a>b)swap(a,b);
int cnt=0;
a<=n&&b<=n
cnt%2)b+=a;

a+=b;
cnt++;

printf("%sd\n",cnt);

B. Codeforces Subsequences

O00D0000000D00000%$k$0 ‘codeforces 0O OO

O0000000000000exactyDODOODODOOODODOODOOODODOOOODOODOOOO
O 0O 00O O $\mathsf{cccoooddeeffoorrcceess}$[[IC D0 D 0D 00 0D0DOOO0O0OOODOS$ISOOODO0O
oodoooooooooooooooodgon

#include<iostream>
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#include<cstdio>
#include<cstring>
#include<cstring>
#define LL long long
using namespace std;
char s ="codeforces";
LL num ;

int main

LL k;
scanf("slld",&k) ;
int i=0;i<10;i++)num[i]=1;
LL kk=1,1i=0;
kk<k

kk=kk/num[i|*(num[i]+1);
num/il++;
i++;

i== i=0;

int i=0;i<10;i++
num/il--)putchar(s[i]);

?

C. Even Picture

O000000000%$n$0 000000000000 0DODOD0O00ODODDOO00O0ODODOO0OODOD
000250000000

gobooobbodobooobbooobbuoobobbooobbooobboon

oo

D. AND, OR and square sum

00000$n$000%as00 00 0 $i,j$0 $a_i=x,a j=y$0 00 O
0 $a_i=a~\mathsf{AND}~y,a j=a~\mathsf{OR}~y$(0 00000000000 0000000000

O00000000% i+a j$0000000000000DOOO0O0OOOOOOODOOOOODOOO
OO00000O0O0o000ooOo0o0ooooOooossooooooooooooooooo

#include<iostream>
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#include<cstdio>
#include<cstring>
#include<algorithm>
#include<vector>
#define 11 long long
using namespace std;
#define pii pair<int,int>
#define mp make pair
#define pb push back
#define fi first
#define se second
int a[200005],b[25];
int main

int n; 1l res=0;
scanf("%d",&n) ;
int i=1l;i<=n;i++
scanf("%sd",&a[i]);
int j=0;
ali])b[jl+=(al[i1]&l),alil>>=1, j++;
int i=1;i<=n;i++
1l t=0;
int j=0,k=1;j<=20;j++,k<<=1

bljlit|=k,bljl--;
res+=t*t;

printf("sLld\n",res);
0;

E. Ski Accidents

O0$n$000000000000000000%s0000003%\rac{4}{7In$0000000O000O
gooboooboogd

000000000000
-$V 0$:0000%V 0$0$V 1000000 0

-$V 1$:000$V 0s00000000¢V. 10000
-$V 2$:000$V 1$0000

Oooogsv2s0000000

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

gggg;g%/m 2020-2021:teams:wangzai_milk:codeforces_global_round_8 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:wangzai_milk:codeforces_global_round_8&rev=1593505399

16:23

0 $|V_0|\geq|V_1|/2\geq|V_2|/4$0 $n=|V_O|+|V_1|+|V_2|\geq|V_2|(1+1/2+1/4)=7|V_2|/4%[]

#include<bits/stdc++.h>
#define 11 long long
using namespace std;
#define pii pair<int,int>
#define mp make pair
#define pb push back
#define fi first
#define se second

const int N=2e5+6;
vector<int>G[N],ans;
int d[NI;

int main

int t;
scanf("%d",&t) ;
t--

int n,m;

scanf("%d%d",&n,&m) ;

ans.clear();
int i=1;i<=n;i++)G[i].clear(),d[1]1=0;
int i=1;i<=m;i++

int x,y;
scanf ("%sd%sd",&x,&y) ;
Glyl.pb(x);

int i=1;i<=n;i++

int j:G[i])d[i]=max(d[i],d[]j]+1);
dli]==2)ans.pb(i),d[i]=-1;
printf("%d\n",ans.size ;
int i:ans)printf("sd ",1i);

pu.ts nn ;

0;
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